EXEMPLIFICATION OF PROTOCOL

2000/01

Con: 20 points
LD: 16 points
Lab: 12

LRA: 8

Ind: 3

2001/02

Con: 20+20-59=-19

LD: 16 + 16 =32
Lab: 12+12=24

LRA: 8+8=16
Ind: 3+3=6

2002/03

Con: -19+26=7

LD: 32+13-58=-13

Lab: 24+9=33
LRA: 16+7 =23
Ind: 6+3=9

2003/04

Con: 7+24=31
LD: -13+15=2

Lab: 33+9-58=-16

LRA: 23+6=29
Ind: 9+3=12

2004/05

Con: 31+
LD: 2+
Lab: -16 +
LRA: 29 +
Ind: 12 +
BNP 3+
2005/06

Con: 31+
LD: 2+
Lab: -16 +
LRA: 29 +
Ind: 12 +
BNP: 3+
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(Calculation takes account of two vacancies)
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